[image: D:\Users\tinapantelis\Pictures\2022-05-02\011.jpg]
[image: D:\Users\tinapantelis\Pictures\2022-05-02\012.jpg]
[image: D:\Users\tinapantelis\Pictures\2022-05-02\013.jpg]
[image: D:\Users\tinapantelis\Pictures\2022-05-02\014.jpg]
[image: D:\Users\tinapantelis\Pictures\2022-05-02\015.jpg]
image1.jpeg
feoyeTPIA B Avkeoy
FNATOZ 2 2]

30 Qeua xpm_ % L/BL

AJUL”

—
——

A A .
4:) r‘L' C@QJ?VQ‘J\‘}P(\ 0\,&, S»\LUL}Q‘Y/\,’LJQ e AR ,‘4(‘ A:% "

[y 1 - =
Br): AB:L A(rl:_ﬂ) B o ’52_4_ y = 9‘1\4%\ P

= lpe=s

T2 A"l g‘-I q@'SP\MFw"{/Q ":()) S Azr (‘7‘\&4:

5 (re) a g
Al = BARBE = 3= 12,0, T => ?I%A::Y\

abs—  AZ LAP

T3 Canr):

;o]~
N
N
,.\'\
3

Ojfvx (kprr= 6K =,





image2.jpeg
Q) TL, & BT2AB=Ar

2 p3

- Br o= i2 =ty ()

2 1
< A’s‘lﬁ*‘(’rl: (0 &~ 10 :’OO*'OB:)AQ](?/

| A
an.  M11,02)  Gwd 5r1<A~52+A.,~L - A <90

u B3TC Wi u {Jrgqixl'zgju, 4.1&?79

4 t
Tew A Br , Pvno

HISY] 6n (—1-3:
naptwb o Yo ko ﬂ\&jojﬂ,'\n,
o ,&vgr Gay Odv v 0. (# 43y Nw 1w
ow v ALYy yr i e ABr)
- 'A N, Gc«.:)aufﬂ ap A/;A,A b FOSEN 1
' : o or1e AR AA2L B A p AA': AB ~BA =
| = AM= (o'~ 87200 ~36= BY =

{
JLea N = masigie s mlanze
L. r

M3,  (*80)z & (Br).(AA)= % /2.8 =

= (A3F) = 48 <y,





image3.jpeg
3) T4, éé“yfm'}mu,, \/6[,0 m@,m‘w S0 ,op;r N(m».ﬁﬁ;

Oﬁ:f*”()‘?ﬁ?fﬂw* 1) Moy a1d 2w vu 95y
al = #Md&}s{ /=) a%

L

Qe AL & g A :i“(.:? w A=z MS

4:%:60‘ opel 044 £ 180

£ Wy (QBP]: ’3 (09)(or)uf, Bap

= "f RQ%!Z;' Tobs) 1horz24=
2 206" 1)
= L 2y 60 o
7w
L 3203
=P ==, YY)
(GYTIRY Fcr:"l'\;pg Q¢ =2
T 6 Ac g = ,gLEﬁ %P_%Lﬁ =7

F2 Gw (z)=(o8r)~(obr)= [(o8)iqpSy
Laf6xX KV o
T B 4 = CRr) et pda-
T Joserls g
= xR F 2qx-3R103 o
3 Y 2 =D
=) (e) = 122(““'?*31/3)
12





image4.jpeg
Civr  (WBA)= Logay.car) cn

Jok  (per) 2 Ller).(4T), C2)

B o AT:Uq ; J\’}J //},(‘L/

Gaw  (A12A) = CAer)
A gA = re Py

7. I) £ iy (/VgA):z'fAB)-d , (3)

e (AB2)s L Cag)o , (4) R ABJAZ
/UM 7,0\1:\.';-/-.3)

Gy v Aql QM\', 1,

Al ), u) Guy  (AB4) = (ABZ)

Qrr.
r2 n) Cras (zn er): (Aer)‘(,wz):)

[ABA) -~ (AHZ) =
) (4g2)- (Auz)~

NI

= (%BH}





image5.jpeg
5 e, e ofr b 12230',

C oy
' ¢ Gt ;
© 444)/}10‘}\/0{45 NE 5 PUR
PR
’// - rT rorlz 0T =
[[To>1 o .
N rr 4 X0 SRR =
2 2
2 4R -2 =)
Y i~

= rr=3R =y | T=RY3 X>°

J‘

A n . ' ,
r2 o o012 2T 4o oz (r239) omdasyia
: = )
1‘,35 q'}, 2o 50 ke ARG, o alre
u d )
/Q/\:nkh = nﬂéos QZ‘//)V}/V/G) .
i [ &S 183 3
iy
A Ry e op
(Or'\):n Fo= = ?,/?)15“%‘\"0\’
360" 36e° Loo ‘(»/-’35/
ﬂé?fﬁvy;- N -
QU T1ra vo/m A

r3 (MT)W Cof‘t)—<0u\)
- ‘rT)(er) - nrt.

_— -

2 B

= 2 ’L

_ RV3.2 ngt 3RY3.pk
- B

&
b(vﬂ.».So\l ﬂ)k'zéda;o;;_w rTA
('FZ) (r
thx = T+ /\+*é/j "/

)

‘RG’*?*%’Z R(VS'FJ'F'Q)
n f}&}»}}.m,y:) T y;m»w;aﬂ,w rAT

- =




